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1. An economist is someone who knows a lot about how goods
and wealth are produced and used.

I &) H who 3G 58 i M A, 8 4 A R £ 18] someone. B F
someone N EBELAFUBFRAT HEARRLEI R knows, [
B XA E 3 A XA E T Aid about TS H9 RGN,
know a lot about sth ¥ E TRE X

He knows a lot about the new project.

o XF X A4t AR T 8.

I know all about that.

RUMEL T,

goods and wealth ¥ S AIM B, AE wealth 3R &iH.18
goods HERER, H goods JF[] wealth 2 |A] H and 38, FF i
Bhid B R A are,

2. Food,for example,is a kind of goods.
for example , 431, U 4b 5 BB & FH K H ﬁ!‘(lﬂﬂflﬁ:ﬂ%ﬁ@]
% FiE food H91EH .

3. Everyone eats food, but the average person does not think
much about all the things that must happen before food ap-
pears on his plate.
the average person —fF A, EEA
average intelligence ‘EHE N
average ability 3 HBE N



think about TE#E N K, fHN A R, 5K E B

She was thinking about her childhood days,

1 7E B 8 41 19 A .

. Another example is the paper this article is printed on.
fth) e the paper J5 -~ 4 B which i EE W), HF T EK
AT on SEELRE A This article is printed on the pa-
per. ]I ERE T on, BB LB,

Yesterday we visited the small flat (which) he lived in.
HEXRENSR T REMNSE,

It's not the fact of examinations I’m quarrelling with,it’s the
way they’re conducted.
RAFWHFAXGFFFERYMERRBREZAN T .

. Tt started as wood on a tree very {ar from here.

as: 1E % .as Fl Like R BT V6 40 i) 7 4 4 3 (H EL B BURE] ke
#HUR".

I worked as a slave.

lEA—TRFEIE.

I worked like a slave.

HEBWF-HTE.

far from [ T MR PR A B BeZIN AT ER,—
AA L EETHER W,

Your work is far from (being) satisfactory,

e 1 E— LA S AR,

Far {rom admiring his paintings.] dislike them intensely.
R EAEIETT 15T RABRE

. Men and machines made the wood into paper,which had to be

packaged and carried by trucks and put into stores.
- 2 .



it which 51§ -~ IERHI 2 EN T, R B EH S E which
) 5 HAEW 8 paper 72 588 , which ] R & X paper K
096 25 Y 0 38 B o T R paper IOASF R .
package TEUL B YESE], i A AR, EWATE ARG #RH
“HELRLELE, (RDTERIRTIT R, I package desl 5 .
.4 s package 8] Bl pack #ifk, flm.
These books pack easily.
XEBREDIEE.
. At every step in the process peopie had to be paid for their
works.
step : I F B
Take steps to prevent the spread of influenza.
RECERIIEROTHBRESE.
What's the next step?
T—HEE AT
. Money had to be used for buying and repairing the machines,
and so on.
be use for %, 0 A THEZ MR, M for FREBZ WL
AR
A hammer is used for driving in nails.
R R REBET T,
AL 3R (173 K B used 10 do.be used to doing F be nsed to
do,
used to do 7 AW EMEE
1 used to work till midnight.
R X LIERRK.

He used to smoke a pipe.



fhuit 24 -
be used to sth. /doing 3BT
You will soon get used to it.
R LENE .
I’m not quite used to being spoken in that rude way.
HARTRT B AT R B AE MG
be used to do § H e
Modern equipment is used to improve the efficiency.
B & B R ERE.
A knife is used to cut bread.
Bk ima.
9. Economists try to understand how all the parts of the long
story are related.
iry to do KK S
Don't try to swim across the river,
FE R WK,
Try to get here early,
HRER— AR,
10. An economisi learns how to guess what will happen in the
future, -
&b A T tearns how to guess, B A]F .
1 do not know how to answer this question. '
A HIE B E R E X AW
11. If fruit growers in Florida lose part of their crops because of
bad weather this month,what will happen to the price of or-
anges in New York two months from now.

) i 3ES KRB N T —RBER, EHH
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12.

TR, B REER AL, B,

H you ask him.he will help you.
MAREEEIR R EBRE.

MAEUSFAARR -FHATEREHHRL WHEERT
BIEAG T AN HHE,

H 1 were you,T would work hard.

MREER REREEEY, 7

If you had come earlier,you would have met him.
WRREF- - S W, AR T .

happen vi. %4, Bl 75 ¥ X B happen to sb/sth. #1 happen to
do

If anything happens to him,please tell me.
MEAR AT AR EENR.

1 happened to have heard about him.

FomE 50T X T Y A .

These are just a few of the questions economists learn how to
answer.,

a few of the questions i & [F] B JL4

some of my friends 38§ i A iy — 2

some of his income LA g1 —4t

B ¥ & 3
1L AER ‘
1) —Bk 4, )W i R4 N—HRER
y EET 5--HRE 6)—3E 8 7}
DB 8) H X &t 9 —HF4 T



2. M as 3 like IR

1> Alazy man  him will never succeed.

2) Such goods  glass and china should be transported
with great care.

3)  we all know,he is very honest.

4) I hope you will not say anything __ that to our manag-
er. ’

5)  a scientist,he has devoted all his time to research.

6) It looks  rain,

7) The bicycle, ___ a means of transport in small towns.is

extremely convenient.

8) He talked endlessly a scholar,actually he was noth-
ing.

8) 1 have a watch rather ____ this one.

10) He was regarded  a great judge.

3. EENE

1) “We’ll be through in a day or two,”said the man in
of the job.
A. control B. hold
C. charge [). manage

2) 1 borrowed the bicycle from a friend of

A. mine B.my
C.1 I}. me
3} How do you like the book you borrowed from 7
A. mine B. my
C.1 D.me

4) This picture is interesting to
- 6 L



A, looking B. look

C.look at 1. looking at
5) This room is comfortable to ___
A living B. live
C.live in D. living in
6) How much did you _ for this shirt?
A, cost B. pay
C. spent N. take
7) Few people knew how to  cotton ___ cloth,
A. make---into B. make’+from
C. rake+--hy . make++-after
8) Japan'’s economy has been seriously by the great
crisis.
A. effected R. acted
C. affected D. effecting
8) Paper is usually made _ wood.
Aol B. from
C.into D. after
10} People made wood into paper,  will be used by

many students.

A. that B. how
C. who 3. which
11. This device is open only to those visitors -_are unable

to walk a lorg distance.
A.who B. to whom
C. which ~ D. that which
12. Hiram Revels,the first black member of the United States
« 7



13,

14.

15.

16.

17

18.

18.

Senate, served as senator from Mississippi, an office

he was elected in 1870.

A. which B. to which
C. and which D. being which
that he will be inspired by our success and continue
his work.
A. There is likely B. Likely to be
C. 1t s likely D. Likely with
________ __plants,people have to depend on food and water.
A. Unlike B. Different
C. Whereas D. As much
Though the long-term _ cannot be predicted ,the pro-

ject has been approved by the committee.

A. resuit B. defect

C. effect D. affect

Mary Smith decided to give up her job for the _  of
her children.

A, care J B. sake

C. reason D. concern

____ team sports require cooperation.

AL Of all B. They are all

C.All TN. Why are all

Qur gloves look very much _ ,and T often take the
wrong pair.

A. same B. like

C. after D. alike

We can’t decide which restaurant

« 5



A.to eat on B.to eat at
C. {or eating D). eating

20. He to visit me once a month.
A used

B. was used
C. using
4. Bkt
1) A common use with gold in the nineteenth century was as a
A B
standard for the value of money.
C D
2) How many people realize that agriculture is a source of raw
A B
materials for clothing and to shelter?
C D
3) Harvesiing of grains is affected by annual changes in tem-
A B C
perature or in the amount of moisture,but both.
D
4) The world cuiput of crude oil that year was 10 percent
A B
high than the previous year,
C D

5) We should try find one or two things which have been
A

done better than last time and comment favorably on
C D

them.

D. uses

6 Several of my friends still feels very angry and

A B
bitter about it and just won’t accept it.
C D
7) He did not fear new ideas, not did he fear the future.
A B C D

.9.



8) Rose said to her friend that she didn’t feel like to go to the
A B

movies that night because she was tired out after a day’s
C D

work.

9) Mary’s mother has tocall her at least half a dozen times
A B

until she answers her.
D

10) Our Chinese teacher is such a knowledgeable person that

A

it seems there isn’t nothing which he does not know.

B C D
- AT

The Farmer and the Apple Tree

A poor farmer had a friend who was famous for the won-
derful apple trees which he grew. One day,his friend gave the
farmer a young 1 and told him to take it home and plant
it. The farmer was pleased _2 the gift,but when he 3
home he did not know where to plant it. He was afraid that if
he 4 the tree near the road, strangers would steal the
fruit. If he planted the tree 5 one of his fields,his neigh-
bours 6 at night and steal some of the apples. If he planted
the tree near his house.his children _7 the fruit. Finally he
planted the tree in his 8 where no one could see it. But
without sunlight and good & ,the tree soon died.

Later the friend asked the farmer 10 he had planted
the tree in such a2 poor place.

“What’s the difference?” the farmer said angrily. “1f 1
v 10



11 the tree near the road,stranger would have stolen the

fruit. If 1 had planted the tree in one of my fields, my neigh-
bours 12 at night and stolen some of the apples, If 1 had
planted it near my house,my own children would have 13
the fruit. ”

*Yes,”said the friend, “but 14 someone could have

enjoyed the fruit. Now you have robbed everyone of the fruit

and you also 15 a good tree.”

1) A. plant
C. seed
2Y A.in
C. with
3) A. got
C. arrived at
4) A. plants
C. has planted
5) A at
C.in
6) A. would have come
C.came
7) A. tock
C. would take
8) A. jungle
C.shrub
9> A.soil
C. fertilizer

10} A.where

B. tree
D. stick
B. to
D. on
B. got o
D. reached at
B. planted
D. had planted
B. near up
D. close
B. had come
. would come
B. will take
D. would have taken
B. woods
D. bush
B. water
D. mineral
B. when
e I



C. why
11) A. would plant
C. would have planted
12) A. would have come
C. would come
13 A. carried
C. brought
14) A. at least
C. at last
{5) A.have hurt
C. have had
. DX

D—BARAR LTI FHIR,
DpRETRHECE DRERET .
DRRET 10 HREREH,

D. that

B. plant

D. had planted

B. will come

D. would have been coming
B. taken

D. fetched

B. at first

D. at most

B. have destroyed
. have planted

D EA R AR R R o] 4 AT
SUBMBHTET KBS ALERABAELHELE.
R EVETEEN 7 BXNHO,

- FEEN

Differences between Foreign Trade

and Domestic Trade

When dealing in foreign trade——exporting and import-

ing —-a merchant faces a variety of conditions which differ

from those to which he has grown accustomed 1n the dormestic

trade. Not only do the institutions the merchant meets abroad

« ]2



diff from those at home,but he faces them as a citizen of a for-
eign country and is,therefore ,frequently subject to special rul-
ings and customs. This creates an entirely new situation,and
he must acquaint himself with its various phases and effects.
There are.generally,certain differences which justify the
seperate treatment of the two types of trade. First,all trade
today is conducted in terms of money,but whereas in domestic
trade the same monetary unit is employed by both buyers and
sellers, we often find two or more different units in a single
transaction or series of transactions in foreign trade. Second,
trade within a country is ordinarily free of the obstructions of
strange languages, customs and commercial laws, but these
obstructions may be greatly involved in foreign trade. Third,
tariffs and other artificial obstacles, which occur in foreign
trade ,are largely absent in domestic trade.
In view of these conditions and differences,a foreign trad-

er will need to know more.
A .
1) domestic a. BB, IEE S0

domestic trade P&

forengn trade #hH
2) accustom  v. W T

get accustomed to R T
3) institution n. M HLH
4) citizen n. FRE.AE
5) {requently adv. B8
6) ruling n. WP
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7Y acquaint v. TR
acquaint cneself with & 5 D ¥ %K
8) phase . fi B, it
9) justify v. IEFAREHRIE M/
10) in terms of #RE. FE
11) employ v, fiTH
12) obstruction = BHAB4
13) involve v.fES5BRE . A
get involved in 5 &
14) tariff n. XB
15) artificial . A M8, RELH
16) obstacle n. R
. DR

Opion polls (R E R 5 Yare now beginning to show an un-
willing gerneral agreement that, whoever is to blame and
whatever happens from now on,high unemployment is pr‘oba—
bly here to stay. This means we shall have to find ways of
sharing the available employment more widely.

But we need to go further. We must ask some fundamen-
tal questions about the future of work. Should we not rather
encourage many other ways for self-respecting people to
work? Should we not create conditions in which many of us
can work for ourselves,rather than for an employer? Should
we not aim to revive ({ff #X B ) the household and the neigh-
bourhood,as well as the factory and the office,as tentres of
production and work?

The industrial age has been the only period of human his-
] 14 »



tory in which most people’s work has taken the form of jobs.
The industrical age may now be coming to an end ,and some of
the changes in work patterns which it brought may have to be
reversed. This seems a discouraging thought. But,in fact, it
could offer the prospect of a better future for work. Universal
employment, as its history shows, has not meant economic
freedom.

Employment became widespread when the enclosures of
the 17th and 18th centuries made many people dependent on
paid work by depriving (2|2 }them of the use of the land.and
thus of the means to provide a living for themselves. Then the
factory system destroyed the cottage industries and removed
work from people’s homes. |ater,as transport improved, first
by rail and then by road,people travelled longer distances to
their places of employment until, eventually, many people’s
work lost all connection with their home lives and the places
in which they lived.

Meanwhile .employment put women at a disadvantage. It
hecome customary for the husband 1o go out to paid employ-
ment, leaving the unpaid work of the home and family to his
wife.

All this may now have to change. The time has certainly
come to switch some effort and resources away from the im-
practicle goal of creating jobs for all,to the urgent practical
task of helping many people to manage without full-time jobs.
1) What idea did the author derive from the recent opinion

polls?
.15



2)

D

A. Available employment should be restricted to a small
perceniage of the papulation.

B. New jobs must be created in order to rectify high unem-
ployment figures.

C. Jobs available must be distributed among more people.

D. The present high unemployment figrures are a fact of
life.

The passage suggests that we should now re-examine our

thinking about work and

A. be prepared to admit that being employed is not the on-
ly kind of work

B. create more factories in order to increase our productivi-
ty

C. set up smaller private enterprises so that we in turn can
employ others

[. be prepared to fill in time by taking up housework

The passage tells us that the arrival of the industrial age

meant that .

A. universal employment guaranieed prosperity

B. economic freedom came within everyone’s reach

C. patterns of work were fundamentally changed

D. to survive everyone had to find a job

4) As a result of the enclosures of the 17th and 18th cen-.

turies .
A. people were no longer iegally entitled to own land
B. people were forced to look elsewhere for means of sup-

porting themselves

« JHe



C. people were not adequately compensated for the loss of
their land

). people were badly paid for the work they managed to
{ind

5) It can be inferred from the passage that

A. the creation of jobs for all is an impossibility

B. we must make every effort to solve problem of unem-
ployment

C. pedple should start to support themselves by learning a
practical skill

D. we should help people to get fulltime jobs

L} 1?.



